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Read the statements and sclect the correct answer from the given options:

Statement - | :  Manganese is an important raw material for smelting of iron ore and also used for
manufacturing ferro alloys.

Statement - II  : Manganese deposits are found in almost all geological formations. however. it is
mainly associated with Dharwar system.

(A) Statement -1 is True, Statement - Il is False

(B) Statement - [ is False. Statement - II is True

(C) Both Statements are True and Statement - [ provides explanation to Statement - |

(D) Both Statements are True and Statement - 11 does not provide explanation to Statement - |

Which of the following statements are correct about Eastern and Western Ghats?
1. Anaimudi is the highest peak in the Eastern ghats.
2. Western Ghats are comparatively lower in elevation and less continuous than Eastern Ghats.
3. Most of the Peninsular rivers have their origin in the Western ghats.
4. The Eastern and the Western ghats meet each other at the Nilgiri hills.
Select the correct answer using the code below:
(A) only 1 and 2 (B) only 3 and 4 (C) onlyl,2and3 (D) only 2,3 and 4

Which of the following statement/statements are correct about a disaster which struck Uttarakhand’s
Chamoli district in February 20217
1. A portion of the Gangotri glacier broke off and caused havoc.
2. There was sudden flood in the middle of the day in the Dhauli Ganga. Rishi Ganga and Alaknanda
rivers.
3. Tapovan-Vishnugad Hydel Project and the Rishi Ganga Hydel Project were extensively damaged.
Select the correct answer using the code below:

(A)  Only 1 (B) Only I and 2 (C) Only 2 and 3 (D) 1.2 and3

Read the given statements and select the correct answer from the options given:

Statement - | ¢ Sikkim Himalayas are famous for Karewa formations, which are useful for the
cultivation of Zafran

Statement - 11 :  Karewas are thick deposits of glacial clay and other materials embedded with
moraines

(A) Statement - | is True, Statement - Il is False

(B) Statement - [ is False. Statement - 11 1s True

(C) Both Statements are True and Statement - Il provides explanation to Statement - |

(D) Both Statements are True and Statement - I1 does not provide explanation to Statement - [

Which of the following characteristics are correct about waves?
1. Wind causes waves to travel in the ocean.
The actual motion of water beneath the wave is not circular.
Steep waves are not fairly young ones and are probably formed by local winds.
4. The highest and lowest points of a wave are called the crest and trough respectively.
Select the correct answer using the code below:

L) 12

(A) 1 and 2 (B) 2and3 (C) 3and 4 (D) 1 and 4
Match the climatic regions of India according to Koeppen's scheme.
Column 1 Column 11
Types of Climate Areas
I BWhw A. Arunachal Pradesh
2. Dfc B. West Coast of India south of Goa
3. Amw C. Extreme Western Rajasthan
4. As D. Coromandel coast of Tamil Nadu
(A) 1-A, 2-B, 3-C. 4-D (B) 1-C, 2-D, 3-A. 4-B
(C) 1-C. 2-A, 3-B. 4-D (D) 1-A. 2-C. 3-B. 4-D
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(A) 1-B. 2-A, 3-D, 4-C (B) 1-C. 2-D, 3-A. 4-B
(C) 1-B, 2-D. 3-A, 4-C (D) 1-D. 2-C. 3-B. 4-A
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Which of the following statement/statements is/are correct about Bharatmala Pariyvojna?
I. It envisages replacement of level crossing on national highways by road over briges/road under
bridges.
It aims to develop the road connectivity to border arecas.
It aims at development of coastal roads including road connectivity for non major ports.
It aims at the improvement in the efficiency of national corridors.
Select the correct answer using the code below:
(A) 1,2and 3 only (B) 2.3and4only (C) 1.2and4only (D) 1,2.3and 4

SRS )

Match the name of the Dams in Column - [ with the river in Column - II.

Column -1 Column - 11
1. Sardar Sarovar A. Mahanadi
2. Mettur B. Chambal
3.  Hirakud C. Kaveri
4. Gandhi Sagar D. Narmada

(=]

(A) I-D, 2-B.

3-C. 4-A (B) 1-C,
(C) 1-B. 2-D. 3-A. 4-C

1-C, 2-
(D) 1-D, 2-C

Which of the following statement/statements isfare correct about Pradhan Mantri Krishi Sinchayee
Yojana?

It was launched to achieve convergence of investment in irrigation at the field level.

Lxpand cultivable area under assured irrigation

Improve farm water use efficiency

Introduce sustainable water conservation practices

Select the conut answer using the code below:

(A) onlyl.2and3 (B) onlyl.2and4 (C) only2,3and4 (D) 1,2,3and 4

L b —

Match the name of the state given in Column -1 with the phrase given in Column - II.
Column - [ Column - II

I.  Assam A.  Abode of Clouds
2. Meghalaya B. Land of Red River and Blue Hills
3. Uttarakhand C. God's Own Country
4. Kerala D.  Land of the Gods
(A) 1-B, 2-A, 3-D, 4-C (B) 1-C, 2-D, 3-A. 4-B
(C) 1-B. 2-D, 3-A, 4-C (D) 1-D. 2-C. 3-B, 4-A
Read the given statements and select the correct answer from the options given:
Statement - | :  The pattern of movement of planetary winds is called general circulation of the
atmosphere.
Statement - 11 ¢ The general circulation of the atmosphere sets in motion the ocean water circulation

which influences the carth's climate.
(A) Statement - I is True, Statement - 11 is False
(B) Statement -1 1s False. Statement - 1l 1s True
(C) Both Statements are True and Statement - [1 provides explanation to Statement - |
(D) Both Statements are True and Statement - Il does not provide explanation to Statement - |

Which of the following statement/statements is/are correct about the movement of the Indian plate?
1. The Indian plate includes Peninsular India and the Australian continental portions.

2. The subduction zone along the Himalayas forms the southern plate boundary in the form of
continent- continent convergence
3. In the east. it extends through Rakinyoma Mountains of Myanmar towards the island arc along the

Java Trench.
4. The Western margin follows Kirthar Mountain of Pakistan.
Select the correct answer using the code below:
(A) Onlyl.2and3 (B) Only2.3and4 (C) Only 1.3 and4 (D) Only 1.2 and 4

Page -
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Wz gar & "o # e A @ W wnd ®ud w2 82
I, Iea 9O S =gH aul 91| &= § 3 gend fasfad g €1
2. ﬁwﬁaﬁﬁmﬁamﬁwwﬁ%éwﬁ%
3. #&M fmior § Iwam 2 $2 & w9 § 39 garsll & #ed e w9 fRar oar 2
4. ¥ Yad Y 9 9 WEENG SR % Ied &3 § [gead g3 8l
A A T BT B ST HLh & IAT Bl qAA DI ¢
(A) 132 (B) 334 (C) 1.28R3 (D) 2,334
gai-1 &1 faam gfa-1l & @ &ty
-1 -1
A. SEd B9, 1989/1992 I fawerd (ufdez) st ggus
B. 29 &w<yH, 1998/2004 Il. €™ 9= &1 4R AEETE] Ud 3961 fSerse & s
C. fEmrer s<sE, 2013/2017 Il ¥=msa *fpem § MR & g99 ¥ o zra gfaa Fofba
T G |
D. wiwem &<ig™, 2001/2004 IV,
99 fau o faemedt § § @Er IO &1 GG T ¢
(A)  A-IIL B-II, C-1V, D-I (B)  A-II, B-IIL, C-IV, D-I
(C)  A-IIL B-II, C-I, D-1V (D)  A-IL B-I, C-1V, D-II

XA 1 2011 &I FIOMT & SATAR ARG Bl HIOTSH Bl 5 G URaR] § riighd fban 71 &, $17d, 3781 gias,
sfgs, siegr-ufimnfes, fqad-ad ot afier - ifes | 39 wwieli &1 Siew arel @ 991 g Fw vear ¥ o
S ¥ 1o gl | @ frems gl 1 % @y i

@A - 1 (v 9fEn) @ - 11 (= | Fsamiaa ween)
A. =T gl I ofiy yaor, dfters, &Aes
B. zfas 1. o4, AR, AMTTS
C. el — ufymntes 11l 39T ws9r, ", faqer
D. foger — @9 V. sregvs, eifesn, vy
(A) /\-III. B-1, C-1V, D-II (B) A-Il. B-1V, C-I, D-III
(C) A-l, B-IlL. C-lII, D-1V (D) A-1V, B-III, C-II, D-1
W%wamwﬁmwwmaﬁﬁql
L U IACH
A. =@ 1. =eg wg9r
B. s 2. HERTSZ
C. dmEd 3. e
D. = 4. ufyam 4ma
A fRu U fywedt § & 98 39X &1 999 Bifaw ¢
(A) A-4, B2, C-1, D-3 (B) A-2, B-3. C-4, D-1
(C) A-3, B4, C-2, D-1 (D) A-1. B-2, C-3, D4
TGS B (T 2011) & HeH ¥ "dE Usal & 9él %H ¢ (Isaaw ¥ Freaw seEen)
(A) TaT weyr, fqer, wemse, ufyaw € (B) SuX w3yr, uiyEq e, wernrs, faer
(C) 3O WeYT, "o, uiyaH e, faer (D) TOX w3y, e, faew, 9fved s
A9 T &l @ 38 Tew ¥ difeu fred ge fug )
AIFA TR T
A. STAEHH 1. den
B. #erdi sftom geeeh 2. @q
C. SR 3. Huwd
D. 4, oreUTEd WIYT
A fau U faeedl § @ 98 IO @1 99d i
(A) A-4,B-2, C-1,D-3 (B) A-3. B-1.C-4, D-2
(C) A-3, B4, C-2, D-1 (D) A-1. B-2, C-3, D4
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Which of the following statement/statements are correct about Laterite soils?
1. These soils develop in the areas with high temperature and low rainfall.
These soils are rich in organic matter. nitrogen. phosphate and calcium.
These soils are widely cut as bricks for use in house construction.
4. These soils have mainly developed in the higher arcas of the peninsular plateau.
Select the correct answer using the code below:

L b2

(A) 1land?2 (B) 3and 4 (C) 1.2and3 (D) 2.3 and 4
Match List I with List 11
List 1 List 11
A.  Basel Convention, 1989/1992 [.  Persistent Organic Pollutant
B. Rotterdam Convention, 1998/2004 [I. Control of Transboundary Movements of
Hazardous Waste and their disposal
C. Minamata Convention, 2013/2017 Il. Facilitate informed decision making

by countries with regard to trade
in Hazardous Chemicals

D. Stockholm Convention, 2001/2004 IV. Mercury
Choose the correct answer from the options given below:
(A)  A-IL B-IL C-1V, D-I (B)  A-Il. B-1II, C-IV, D-I
(C)  A-lIL B-IL C-1, D-IV (D) A-lLL B-1. C-IV, D-lII

According to Census of India. 2011, the languages of India are classified into 5 distinct families. namely.
the Indo-European, the Dravidian, the Austro-Asiatic, the Tibeto-Burman and the Semito-Hamitic. Large
number of speakers of these languages are found in certain states. Hence match List | with List I :

LIST I (Language family) LIST II (States / UTs)
A. The Indo-European [.  Andhra Pradesh, Tamil Nadu, Karnataka
B. The Dravidian 1. Assam, Manipur. Nagaland
C. The Austro-Asiatic [11. Uttar Pradesh. Maharashtra, Bihar
D. The Tibeto-Burman IV. Jharkhand. Odisha, Meghalaya
(A)  A-IL B-L. C-1V. D-II (B) A-IlL B-1V. C-1, D-III
(C) A-L B-IL, C-lII, D-IV (D) A-IV, B-IIL. C-II, D-1
Match the crop with the State that is its leading producer.
Crops Leading producer
A, Jowar I.  Madhya Pradesh
B. Bajra 2. Maharashtra
C. Rice 3. Rajasthan
D. Gram 4. West Bengal
Choose the correct answer from the options given below:
(A) A-4,B-2, C-1. D3 (B) A-2. B-3, C-4, D-1
(C)  A-3, B4, C-2, D-1 (D) A-1. B-2, C-3, D-4

The correct order of Indian states in terms of population size (2011 Census) is (from highest to lowest
population)

(A) Uttar Pradesh. Bihar, Maharashtra. West Bengal

(B) Uttar Pradesh. West Bengal, Maharashtra, Bihar

(C)  Uttar Pradesh., Maharashtra, West Bengal, Bihar

(D)  Uttar Pradesh, Maharashtra, Bihar, West Bengal

Match the National Park with the State in which it is located.
National Park State

A. Balphakram . Telangana

B. Mahavir HarinaVanasthali 2. Assam

C. Namdapha 3. Meghalaya

D. Nameri 4. Arunachal Pradesh

Choose the correct answer from the options given below:
(A)  A-4, B-2, C-1, D-3 (B) A-3. -4,
31

B-1, C-4, D-
(C) A-3, B-4, C-2, D-I (D) A-1, B-2.C-3,D

PN e
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1 & 9 & o it e gems Afedt & |y @é w9 gafig &7

A. PO AR, HTEUHI, ARG B. T : AT, @l TUEd

C. THAT : %A, dadr, T D. rerdl ¢ wifesr, e, dErEdr
A o o faeedt @ @€ SO @1 9gd sy

(A) Had A, B, C (B) haa A, B. D

(C) %awa B.C. D (D) had A, C. D
3 ME Al Bl waE ¥ G99 ol § G99 B b BH H HARAd BT UL Fel HH ;M 8 7
(A) Hemel, e, TETadl, HwI (B) TETEdl, FHOW, WETEl, ardr

(C) +Her, He™eEl, TEEd, Hun (D)  TrEredy, 9T, SN, HeraEl

WIed B8l #iEed (1942) & ded &, = & 8 & 8 a2 &1 fyew gér &7

a. U WEAl - 7w fear gEn b. &.IHH - W WG FIHRT FA
c. fug ure - Hwge Ay d. #Efe g - g ®em 9 ewen
ferspeq

(A) aaiTb (B) baec (C) catd (D) asamxd
gETal & ftor feparpardi & e & fm &y @ faem @i

a. Hrar \frg i. e

b. SENtR &1 Heaq i qrTHEd

. AR BN @R IUDN iii. =g Ryeras

d. 9" 994 & g quq AU iv. ST

(A) a-iv, b-i, c-iii, d-ii (B)  a-i, b-iv, c-iii, d-ii (C)  a-iv, b-i, ¢-ii, d-iii (D) a-i, b-iv, c-ii, d-iii
A &7 T AR B gH! Tl b Gad F Haw Hira

a. WEISEM Wbl i et

b, e fasd i, e

c. ¥ FoF g WA il 319HT

d.  fgEde faom iv. geudgsl fawfyar @ s

(A) a-iv, b-iii, c-i, d-ii (B)  a-i, b-iii, c-ii, d-iv (C)  a-ii, b-iii, ¢c-i, d-iv (D) a-ii, b-iii, c-iv, d-i

gt gemr o | ¥ gy @1 3 @ §vaT g gees atdary & yHT fHear 1 i & ad=t el 9o
HIATET % G 47| wenpiadl §, Sepiviiied gel, afivar & g fEr & ad, gugfd 9w, men, 3Egd, gud
qicer, @¢ ==, a2, ARy |id ud faeier, amiae ) SaEe & SR 91 | Teedl B st arE @, w9 e
USIITA & e HI ST HEdl A1 HaAds Ui & U Us gol &F ¥ ElwHaid dl Uh b [hAl §AT ¥ Ul
T 7| g, S R W ud Wikt & adl & 99 deiig &, 39h 939 g @ uiiie s de § g% e
@ d9reT wl TE glad e & -
ge HUA G § B H FSW WA H GUF & 7
(A) ammgar, sfmon (B)  diadng, e (C) o siemtg, gdn (D) wdnTe, st

T TuaHe % 9 ¥ fre § ® B § wme wér ¥7

a. g U@l Uwhy § gatag ol

b. @& Yerbfde fada & &¢ T Ol

c. I, ¥y ud " farmt sHe @ & ufig dae o)

d. &4 9 @y 99 Ared Ma - wiad, el s armisd

(A) a, baltec (B) a.baitd (C) b.caitd (D) a.cafitd

= e I 1 BIarhiies % (Fd WreE ¥ aq @) § gaied iy

a. AT ERT T % A R a RERT b, e A fagw e

c. UzsHhda # #fel ® G d. gefeve dfew — ey

(A) a. b, c. d (B) c¢.d. b a (C) c¢. b .d a (D) a.b.d.c

Page - 8
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Which of the following river(s) isfare correctly matched with its/their tributaries?
A. Krishna: Tungabhadra, Ghataprabha, Malprabha
B. Ganga: Gomti, Kosi, Gandak
C. Yamuna: Ken. Betwa, Chambal
D. Cauvery: Kabini, Bhima, Hemavati
Choose the correct answer from the options given below:
(A) A, B, Conly (By A.B. D only (C) B.C,Donly (D) A, C. D only

The correct order of the given rivers when arranged by length from longest to shortest is:
(A) Mahanadi, Narmada, Godavari, Krishna  (B) Godavari, Krishna, Mahanadi,Tapi
(C) Narmada, Mahanadi, Godavari. Krishna (D) Godavari, Narmada, Krishna, Mahanadi

In the context of the Quit India Movement (1942), which pair/s mentioned below is/are matched properly?
a.  Usha Mehta - Clandestine Radio broadcast
b. K T Bhashyam - Running independent local government
¢.  Chitu Pandey - Labour unrest
d.  Matangini Hazra - Attack on police station

Options:
(A) aandb (B) bandc (C) candd (D) aandd
Match the following details about Shah Jahan’s construction activities:

a. Moti Masjid i.  Lahore

b. Jahangir’s Mausoleum . Taj Mahal

¢. Extensive use of calligraphy iii. Peacock Throne

d. first commissioned after becoming emperor iv. Agra

(A) a-iv, b-1, c-iii, d-ii (B)  a-i, b-iv, c-iii, d-it (C)  a-iv, b-1, c-1i. d-111 (D)  a-i. b-iv, c-ii, d-iii

Match the information given below with respective Sufi Saints:

a. Bahauddin Zakariya i. Gulbarga

b. Muinuddin Chishti ii. Delhi

¢. Bande Nawz Gesu Garaz ii.  Ajmer

d. Nasiruddin Chirag iv. Founder, Suhrawardivya Order

(A)  a-iv, beiii, c-i, dsii (B)__a-i, beiiiyc-ii, d-iv (C) @i, beiii, coiyd=iv (D) a-ii, b-iii, c-iv, d-i

"-—- gives evidence of a planned settlement and mud-brick structure in early Harappan period 1. The range
of pottery types was similar to that of Kalibangan. Artefacts included uninscribed seals, pottery with
graffiti, terracotta wheels, cars, rattles, and bull figurines, chert blades. weights, a bone point, and a
muller. A lot of animal bones were found during the excavations, indicating the importance of animal
husbandry. A stacked set of hopscotches was found in an open area behind the structural complex. This
suggests the possibility that a game similar to pithu, which is popular among children in India and
Pakistan. goes back to early Harappan times!" - this statement is a description of which Harappan site
in India?

(A) Banawali, Haryana (B)  Dholavira, Gujarat
(C)  Alamgirpur, UP (D) Rakhigarhi, Haryana

Which of the following statements about King Harshavardhana are correct?
a. He belonged to the Maukhari dynasty
b. He was defeated by Pulakesin Il
¢.  Ban, Mayura and Matanga Divakara were the famous writers at his court
d.  Harsha himself wrote three plays - Ratnavali, Priyadarshika and Nagamanjari
(A) a bandc (B) a,bandd (C)y b,candd (D) a,candd

Arrange the following temple constructions in chronological order (from most ancient to the recent
times):
a. Rebuilding of Madurai Meenakshi temple by the Nayaks
Vitthala Temple at Hampi
c. Group of temples at Pattadakal
d. Brihadishvara Temple. Tanjavur
(A) a,b,c. d (B) c¢.d, b,a (C) c.b.d a (D) a,b.d. c
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gl | & Hem g 11 & &y wifag

T - 1 - 11
A, FTTEmg . @a®
B. Hwﬁmq 2. g um™
C. Iered 3. T Edl
D. |1 Ud Tl 4. 9ffd wmET
A fau 0 HE w1 IUAN Bk el T g
(A) A-3. B4, C-1, D2 (B) A-3. B-1, C-2, D-4
(C)  A-1, B-3, C-2. D-4 (D)  A-2, B-1, C-4. D-3
I ® Ul S ard sl @ Feefafad et ot faare St
i @ utyEw $ma i, ol Teg wey
i, ®E — S iv. HERRET — HERTS

Iugad § ¥ dI9 91 9o e &7

(A) ad i o ii (B) %ad i il (C)  had i & iv (D) ad iii 0T iv

Jre 8w Gy o

FA - | Toig-1 9 o ARnE Bi|, Ud Wit 19199 ShE W i

Fo - 11 : Tl dien & g senreadd § uigg fredsat @i awamn |
I HeFl % e, 9 fou T3 fawedt § @ Fatfus sfag o @ g

(A) U= -1 ug %ud -1l 24 99 21 (B) @ -1 ud ®eH - 1l @0 a|e E
(C) ®u-18d & 90 ®UF - 1l I\ ) (D) ®uT-1 39 & 9t HUF - 1l 9 # |
FTHTT G H Feaqs § Frad H o §E1 STagemhl B 7 Biford
A. ®IEER - g4a — HH — JhiEd B. Y& - AHA - YHEH - WHiFa
C. & - GhlEH - UaN - BISER D. FUER - BEER - FHE - JhEd
A o o fyeedt W ® @& IR @1 gge st
(A) had A (B) waw B (C) waa C (D) @aw D
gar-1 @1 faam gha-11 & @y $ifg

- 1 & - 10
A. ¥ 9me I = i
B. 3zg Bl Il ®Ugsl e
C. ¥q fde . qleprE—g—gemdm
D. @ | IV, amre oeedt
g fau o fawedt ¥ | @é T @ 9ET B
(A)  A-l, B-IL C-lII, D-1V (B)  A-lIL B-1, C-1V, D-1I
(C)  A-1V, B-IlL, C-1. D-111 (D) A-IL B-lIL, C-1. D-1V

a. NI - IAHE H WRTAYT I S BIH Ao Ha §
b. 38 &l ¥ WYH ged T e Yrdl, g0 Ud di F
UG HET | A H GE DI A&7

(A) %ad a (B) &ad b (C) a afX b qFl (D) aaTbd¥d & &g &l
gar-1 &1 faam gla-11 & @y #ifg
-1 T - 10

A. fepemare [ e

B. @®Ear 1. drertasr

C. fPrar—arfear 11, =izh

D. AR V. fumar
dra faqu U fqeeat ® @ @8 O &1 99w Hifo
(A)  A-Il, B-L. C-1V. D-lII (B)  A-lIL B-1, C-II. D-1V
(C)  A-IV, B-I, C-II. D-III (D) A-IL B-IIL, C-I. D-IV

Page - 10



27

28

29

30

31

32

33

% The Vision

ENGLISH VERSION

Match List-1 and List - 11
List - I List - 11
A.  Arikamedu Patrons
B. Tolkappiyam Measure of land
C. Vallals 'Roman Factory'
D. Ma and Veli Tamil grammar

L) P —

Select the correct answer using the code given below :
(A) A-3, B4, C-1.D-2 (B) A-3.B-1.C-2, D4
(C) A-1,B-3, C-2. D4 (D)  A-2. B-1. C-4, D3
Consider the following varieties of Mangoes found in India:
i. Chausa - West Bengal ii. Totapuri - Madhya Pradesh
iii. Kesar - Gujarat iv. Alphonso - Maharashtra
Which of the above is correctly matched?
(A) iand ii only (B) i and iii only (C) iandiv only (D) it and iv only
Given below are two statements:
Statement - 1 :  Rajendra-I Chola introduced Maligai-Kol, a standardized measuring unit.
Statement - 11 : Rajendra-I Chola's son Arumolivarman built the famous Brihadeshwara Temple

In the light of the above statements, choose the most appropriate answer from the options given below
(A) Both Statement - [ and Statement - II are correct

(B) Both Statement - [ and Statement - Il are incorrect

(C) Statement - [ is correct but Statement - II is incorrect

(D) Statement - [ is incorrect but Statement - I is correct

Choose the correct hierarchy from the highest to the lowest level in Mughal India
A. Faujdar - Subadar - Amin - Mugaddam B. Subadar — Amin — Mugaddam - Faujdar
C. Amin — Mugaddam — Subadar - Faujdar D. Subadar — Faujdar — Amin - Mugaddam
Choose the correct answer from the options given below:

(A) A Only (B) B Only (C) C Only (D) D Only
Match List - [ with List - Il
List- I List - 11

A. Tipu Shah [.  Benaras Rebellion

B. Dudu Mian II. Faraizi Movement

C. Chait Singh 1. Tarigah-i-Muhammadiya

D. Titu Mir IV. Pagal Panthi
Choose the correct answer from the options given below:
(A)  A-lL, B-II, C-l1II, D-IV (B) A-IIL B-1, C-1V, D-II
(C)  A-IV, B-II, C-I, D-1II (D) A-IL B-II, C-l. D-IV

a.  Manjusha Art is an art form of Angadesh, present day Bhagalpur.
b. The main colours used in this art form are Pink, Green and Yellow only
Which of the above statement/ statements are correct

(A) Onlya (B) Onlyb (C) Bothaandb (D) Neither a nor b
Match List - I with List - Il
List -1 List - 11

A. Kilakot I.  Madhubani

B. Kohbar Il. Patachitra

C. Thia-badia [Il.  Sanjhi

D. Morakuti [V. Picchvai
Choose the correct answer from the options given below:
(A) A-ll, B-I, C-1V, D-11I (B) A-lIL B-1, C-II. D-1V
(C) A-IV. B-L. C-lI, D-11I (D) A-Il, B-lII, C-I. D-1V
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VAT TS &E o ofeded & &9 ¥ Uh § offdsh 9 Hal o 9l =ar o
A. goaTg 0 B. ==y . swil
C. 3E™E A D. g TH. T
E. &t faferam deat
I fau U el ® @ @€ 9 &1 9= ifo
(A) @ad A, B ait D (B) whad A, B. C &t E
(C) Haa A. B, C, D (D) wTam @

a. WeIUen Hd fHe sustdtmr 4 fira 9 o 91

b. TR TG fiE ® T ¥ SH-BrhEd Ses Ud A\ e aegd &l Auiaatis sEe o
S i o1/ G faam wdr & [ & ¢

(A) %aw a (B) e b (C) a 3T b 2t (D) adlKbd & o o

aferor g Wi ei=ied @1 Sl arsa g Frefatiag § & @ o ?

A, HIEHE AT B. TierRd

C. zEEAT D. 3 Heredr

E. WiaariEt

I fau U faeea ® ¥ 98 39 & 999 B0

(A) #TA.B.D (B) %@D,.C.E (C) %A.C E (D) %@ B, C. D

194 gl W W W whutd @l WAl o f9ug o B °7 hue g B 7

A. 1861 & wmfe fafam 9 @1 wRa & $9@ SdEs 9 g9g ST

B. Za®hd & UM IATRI H HUTE IEET § SuE|

C. 1862 @b faet & 90% Hurd &1 G Wi § g3

D. ®urg sded ¥ fawe o |ewrd B aden at st dfus gas aamn

E. 1875 &I 3ok 3 o+l taal &% fass @gard & ufdihan o

A feu U fyeedl ® ¥ §6 IO &1 999 I

(A) @wad A, B. C (B) ®Ha@m A, CarD (C) saa A, B.D (D) @aw D. E

a1 fyemera & gha-11 Tenst @ fee Sy -

T -1 T - 10
A. GHEl BUT w2 R . gehdM - I
B. tew fiema 1. fufex
C. s e R . ==y - 1l
D. aUE HW w2 {awa V. wgsrd
I fau U el ® @ @8 9 &1 999 it
(A)  A-IL B-1, C-IV, D-II (B)  A-IV. B-I, C-lII, D-II
(C)  A-IL, B-1V, C-I, D-III (D)  A-L, B-III, C-II, D-IV
Al - 12/ Baa 3@13 & iy gl - 1 @l & e Sifm
T -1 - 1
A. TEGAT YT . sremees Raerar
B. <ar-u-gwd 1. e 2= Ad
C. fyen lI.  gmewiel
D. T V. fae=T amrr
9 fou MU fqewedt ¥ ¥ WE IO @ 99T DI
(A)  A-IIL B-1V, C-II, D-I (B)  A-II, B-III, C-IV, D-I
(C)  A-IL, B-llI, C-I, D-1V (D)  A-l, B-lII, C-1I, D-1V
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Leaders who served more than once as the President of Indian National Congress
A. Surendranath Banerjee B. W.C Banerjee
C. Dadabhai Naoroji D. Rahimtullah M. Sayani
E. Sir William Wedderburn

Choose the correct answer from the options given below:

(A) A, Band D only (B) A.B.Cand E only

(C) A.B,C.Donly (D) Al of the above

a.  Maharaja Ranjit Singh came from Karorasinghia Mai Misl.
b. Jean-Francois Allard and Jean Baptiste Ventura were the two Nepoleonic generals in service of
Maharaja Ranjit Singh.
Which of the above statement/ statements are correct ?
(A) Only a (B) Onlyb (C) Bothaandb (D) Neither a nor b

Which among the following were women Adayar saints of South Indian Bhakti Movement?
A.  Karaikal Ammaiyar B. Godadevi
C. Isaignaaniyar D. Akka Mahadevi
E.  Mangayarkkarasiyar

Choose the correct answer from the options given below:

(A) A, B, Donly (B)y D, C.LE only (C) A.,C. E only (D) B, C.D only

Which statement(s) is/are correct about the Cotton Plantation in India in the 19! century?
A.  American Civil War of 1861 impacted Cotton production in India
B. Cotton production boomed in Deccan countryside
C. By 1862, 90% of cotton import to Britain came from India
D. Expansion in cotton production made ryots richer than the sahukars
E. The Deccan Riot of 1875 was the reaction of sahukars against the rich ryots
Choose the correct answer from the options given below:
(A) A, B, C Only (B) A.C&DOnly (C) A,B,DOnly (D) D, E Only

Match List 1: Inscription with List II: Kings

List - 1 List - 11

A.  Sanchi Copper Plate Inscription [.  Pulkeshin - Il

B. Aihole Inseription [I. Mihir Bhoja

C. Allahabad Pillar Inscription [1l. Chandragupta - Il

D. Barah Copper Plate Inscription V. Samudragupta
Choose the correct answer from the options given below:
(A)  A-IL B-L, C-1V. D-1I (B) A-1V, B-1, C-II, D-lI
(C) AL, B-1V, C-1, D-1II (DY A-L B-llI, C-1I. D-1V

Match List - I: Land / Taxation Units with List - 1I: Personalities

List - 1 List - 11

A. Dahsala System . Alauddin Khilji

B. Bigha-i-Daftari [I. Raja Todar Mal

C. Biswa I1. Shahjahan

D. Guz/Gaz IV. Sikandar Lodi
Choose the correct answer from the options given below:
(A)  A-NL B-1V, C-11, D-I (B)  A-Il. B-1II, C-IV, D-I
(C)  A-lI, B-lIL, C-I, D-IV (D)  A-L B-lII, C-II D-1V
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gdr-| &1 faam gfa 1l % @y #ifag

T - 1 - 11
A. "G AT gde . IO uey
B. @iz 1. ed
C. @ 1. anfeem
D. ¥ fassa IV,  Yorams
A f3u U faeedl § ¥ 98 30 & 999 it
(A)  A-IL, B-1, C-1V. D-11I (B)  A-IIL. B-1I, C-I. D-1V
(C)  A-1V. B-1II, C-1. D-II (D)  A-I, B-IV, C-I1. D-III
gl - 1 fopedt & gl & A & qre gdl - 1 g @ e sifi
-1 T - 11
A, 9EEH I @
B. #As® 1. &
C. erear 1. Aemd
D. Bz V. o ud tom e
e feu U fgeedi § ¥ H9E1 IO &1 999 HIT
(A)  A-IIL B-1V, C-1, D-II (B)  A-1V, B-II, C-11, D-I
(C)  A-IV, B-1II, C-1, D-II (D)  A-IIL, B-1V. C-II, D-I

aag sfae™ ¥ fefatag gemmet 93 faar st

o fufer w9 (9 1) % el ufdeRt @ Ssg

TeFdHA o STId Ueeld Gl i WA

MO & a9 e st

. Wide - | E10 did gdr Bl @

Sugad weAIsHl ®1 Ydwkiied T H YW HY Hel HIdmhid sk 71 & 7

EA) 2143 o R © o3 (D) 3-4-12

qA™ @asid 89U & g2y °, Mefatag gemat 9 faamn Fif

I, fadr Ma F9 g9@ 2. T W

3. Wz uEe 4. wid TE B 5y

TE BIAHME B (JHhITas & IaEE q%) &

(A) 4.3, 1,2 (B 3.4,2.1 (C) 1,3, 2.4 (D) 1,2.3.4

e L3 P —

I & H, ‘g7 | 9 @1 Y B
(A)  gfiem (B) &X (C) orferqemed sieRr (D) amgE=r/3mg

g g | Corenrg’ gt i wear oan 7
(A) uw faar HHEwE (B) @ U aren €
(C) 91ais & @d (D) s =gl @1 S g2 AYARIE T BT 3hTS
a2 & 9 o frefafgd sae 9T faar St
. 4 wug §
Az pseudomycelium a1 Hehal & |
dree geped (afgdm) gra adfie =9 & gord wear & |
e faeed! sFTedsa (hhaeted =) € |
gl I Tamd (srawiihs) € |
. g A e (Yueitie)
- Bl § - el E 7
(A) 1.2 3.4 B) 1.2.3.6 € 3456 (D) 2.3,4,5

3
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Match List - | with List - 1I

List - 1 List - 11
A. Mata ni pachedi . Uttar Pradesh
B. Sanjhi Il. Gujarat
C. Phad 1. Odisha
D. Saura Paintings IV. Rajasthan
Choose the correct answer from the options given below :
(A) A1, B-I, C-1V, D-1II (B) A-lIL B-1I, C-L
(C)  A-IV. B-II, C-1. D-1I (DY  A-L B-IV, C-l1,
Match List - [: Name of the Variety Units with List - [I: Textile
List - 1 List - 11
A. Shabnam . Wool
B. Mashru [I. Cotton
C. Dhabla 1. Muslin
D.  Chintz IV. Cotton and Silk mix
Choose the correct answer from the options given below :
(A)  A-1L B-IV, C-1. D-1I (B)  A-lV, B-lIl, C-lI
(C)  A-IV, B-IL, C-1. D-11 (DY  A-lIL B-1V, C-lI

Consider the following events in the history of India :

I.  Rise of Pratiharas under King Mihir Bhoja (Bhoja I)
Establishment of Pallava power under Mahendravarman
Pala dynasty founded by Gopal
4. Establishment of Chola power by Prantaka - |

(ST )

What is the correct chronological order of the above events, starting from the earliest times?

(A)  2-1-4-3 (B) 3-1-4-2 (C) 2-3-1-4 (D) 3-4-1-2
With reference to the Indian Freedom Struggle, consider the following events :-
1. Second Round Table Conference 2. Dandi March
3. Rowlatt Act 4. Death of Jatin Das
The correct chronological sequence is (from earliest to recent)
(A) 4,3,1,2 (By 3.4, 2,1 Gy 1,3,2. 4 (D) 1,2, 3,4
In the later vedic period, the term "Bali" denoted
(A) Sacrifice (B) Tax
(C) Powerful landlords (D) Revenue
"AshtaPada" in ancient India referred to
(A) A marriage ritual (B)  An Asura with eight legs
(C) Game of chess (D) Cavalry unit comprising of eight horses

Consider the following statements about Yeast :

1. Yeast are fungi. 2. Yeast can form pseudomycelium.
3. Yeast reproduce asexually by budding. 4. Yeasts are facultative anaerobes.
5. All Yeasts are dimorphic. 6. All Yeasts are pathogenic.
Which of the above are correct ?
(A) 1,2,3,4 5 W e () 3., 5.6 (D) 2,
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wrfgeataa ue gihar & il efta aredl & 39% T &1 fHddEs e o qee wedl & | gl @ "y 9rd
dur s afufpard ue fafafese srmie o9 & 2 3 1 98 ge & 9 @ife S R wrefdatie 8 9@
T
(A)  FATBe BT Weh19T Hol @l Aoy (B) e SEATHFEES & [E49M § HEeEse
(C) ®EA & ATFEISYE § BEw SEaadEs (D) =& fgum

U T (HUA) B AT & b IAh AdoTa [919] B wREeA § arEen-asel g2 & 1 39 g9 & gow & e e
Eﬂﬁ—cﬂmamw% | gES w1 o @98 A % qUT oiRd & ad 99 B ® 1 39 sifass fig) @1 @ wE w8 wadn
EA

i @A AdB ii. A= Bar Oar AB
iii. A9 Bar AB iv. ®ad AB
el fameq 9o -
(A) had i (B) ®ad ii (C) o iii (D)  &ad iv

fe waetl ax faam @ifso
i wrsfefthpe v uftbar @ Pred Tigdew &1 wuidior Agdee ® g €
i, Srmeffrhe us ufhen ¥ frad Mggism @1 wuidew AEeeE ¥ e &
i, =g@i®s 3 (DNA 3t RNA) & ggiom 2
iv. grgHEAR fEeeaisd & SN 9 6 e G TS bl WU AREA & ATdEEs o g #)
v. Ao fsta (root legumes) ¥ wEZeH BlUREIETR ?ﬂ_clTU]; 1:IH'ITFIC\?I BB
TE B B TG BT

(A) i i il @i v (B) i, iii &fT v (C) iii, iv &T v (D) i, ii &T iv
gt & art ® Freafofiag st o famr St -

i @Edd g € i, @RdY e ¥

iii. @EdE ddm & iv. wWEdq gesidl s &9 &

v. ®Zdd gaeEr @
e HUA BT TG BT
(A) Qe v (B) i 8T iv (C) i, iii &% v (D) i, iv & v
A srawen aREdd & $5 umd Ry T ¥

A. T B aTSHBT B. dM&Esi &1 S

C. = % 91 &1 ga D. 5@ % JEq FTHST BT TR T o Bl e
Tl fasea & g

(A) B, Cda D ¥ had THEae gf@dd andfad & |

(B) A.Baur C ¥ %aw Hifde diadd ardfad & |

(C) %aw A U *hfas afads & |

(D) B H +ifgs st Temafe, g9 ofeds e £

frafafea & & &9 9 ®oaw @ 781 & 7

forEm @ T H U W oife UfE urd g
ﬁ%ﬂﬂﬁ%ﬁﬁz,éﬁﬁwwwwwmal

ST qTaeT Ush SNEThRd &l viftd 9 & &Y Ghar ¢ |

. = fadiaie & Uh o IEE F o9 % oF o9 syhud e ¥ |

E. difsam FAES & WA fowa # fagd vaed w1 uw wifsed sEgeeEs IO w
(A) A.BarD (B) A, C&RE (C) BamD (D) @haw E

Waﬁmmfﬁﬂ?ﬁqaﬂmmqﬁv
A & AT BT FAAEN AT AT b BON b dHB H T § |
B. HUSE B THIE & A G19T b A F HEe B FH sAeEe dearr &
C. Td@ o & SR d1g9 % STU[al o1 StateRrl fa =T @l 3 e & |
D. %3 o # flde de & #U & 9ad Ca’ @ Mg  &mgei &1 33 § |
(A) A, Bt C (B) AamD (C) BaxC (D) B.CsaxD

oOowp
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Photosynthesis is a process that helps green plants synthesize their food. A cascade of events and
chemical reactions take place in a specified sequential order. Choose an event that does not take place
in photosynthesis

(A) Absorption of light energy by chlorophyll (B) Reduction of carbon dioxide to carbohydrate
(C) Oxidation of carbon to carbon dioxide (D) Splitting of water

A couple suspects a mix up of their new born baby in the hospital. Blood typing is sought to resolve the
dispute. The man has blood group A and the woman has blood group B. Their biological child can have
blood group

i. Lither A or B ii. AorBorOorAB
iii. A or B or AB iv. only AB
Choose the correct option :
(A) ionly (B) i only (C) il only (D) iv only

Consider the following statements:-
i.  Nitrification is a process in which nitrates are converted to nitrogen.
ii. Denitrification is a process in which nitrogen is converted into nitrates.
iii. Nucleic acids (DNA and RNA) contain nitrogen.
iv. During atmospheric lightening, nitrogen in the air gets converted into oxides of nitrogen.
v. Nitrogen fixing bacteria are present in root legumes.
Choose the correct statement(s) :

(A) 1, 1L 111 and v (B) i1, 111 and v (C) i, v and v (D) 1, 1 and iv
Consider the following statements about Lichens :

i. Lichens are algae ii. Lichens are autotrophs

iii. Lichens are fungi iv. Lichens are symbiotic lifeforms

v. Lichens are saprotrophs
Choose the correct statements :
(A) 1and v (B) 11 and iv (C) 1, i and v (D) i iv and v

Following are some processes involving changes of state :
A.  Evaporation of water
B. Burning of candle
C. Dissolution of sugar in water
D. Electrolysis of water to form hydrogen and oxygen
Select the correct option -
(A) B, C and D involve chemical change only (B) A, B and C involve physical change only
(C) Only A is a physical change (D) B involves both physical and chemical change

Which of the following statements are not correct ?
A. Plaster of Paris is obtained on heating gypsum.
B. Sodium carbonate is an important constituent of baking powder.
C. Bleaching powder can also act as an oxidising agent.
D. Ten water molecules are present in one formulae unit of chemical species of a sample with
common name blue vitriol.
E. Sodium hydroxide is produced by passing electricity through the aqueous solution of sodium
chloride.
(A) A.Band D (B A.Cand E (C) BandD (D) Only E

Select the correct statements regarding cleansing action of soap.
A.  Hydrophilic end of soap molecules interact with the oily droplets.
B. The formation of micelles in a soap solution during the cleaning of clothes is called
emulsification.
C. The hydrophobic end of the soap molecules is in the inner side during micelle formation.

D. Micelles surround the Ca”>" or Mg®" ions in hard water instead of oily droplets.
(A) A,Band C (By Aand D (C) BandC (D) B,CandD
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e § & aF owwEE 7

|, aTeiietol U% AdE @l gfeaedr (BAME) ¥, 9% 9 § fh dde | Hur arey ot ¥ 98 o & |
2. SECHl Uk dvh (dh) BAMAT 8, 36H did & fh A & i d HY Ay areet H ded oid ¢ |
3. faemor, 6 argwen o1 g9 s ¥ ggdrd & faar @ o srawen o ufada #

4, uerd B FERT B 3Eh AT o qadT &0 & haw 99al o Tahdl & |
A

(A) 1.3 a4 (By 1.2afT3 (C) .23 4 (D) 2.3 34
gl - | &1 faae gdr - 11 & a1y #ifag
-1 T - 11

I, or| aifeam aeitEe § St I. i

2. UW % dgfsEl % o @ fafve T II. amgas (Distillation)

3. Ugied ud ow g [11. arasbzor (Centrifugation)

4. ®F ¥ HdEA IV. 3eduras (Sublimation)
(A) 111, 2-1. 3-1V, 4-111 (B)  1-IL 2-11L, 3-1V, 4-1
(C)  1-1V. 2-1, 3-11, 4-11I (D) 1-IV, 2-11, 3-1. 4-1I

diaar & srese 143(1) % d8d 9Rd & ddied Fraed &0 ed (71 amell sfiimd o st fatte fawar a7
gar - 1 &1 fyam gdt - 11 & @iy b

T -1 T - 11

A, faer fofy aifafaam, 1951 1. faeamd fagronfiresre

B. %era fde 1965 Il a9

C. 2001 @1 fagiy g=d g 1 1. gt faum

D. 2002 =1 fasiw "2 de V. Tera faaraHn g4
Jr fou o fqeedi § @ 9E 39 gﬁu :
(A)  A-1IL B-L. C-1V. D-lI (B) A-lIL. B-I, C-II. D-1V
(C)  A-1, B-IIL. C-1V. D-lI (D)  A-ll. B-L. C-1II, D-1V

|ITd & |iau % offese 54 ud 55 % udied &g @iagm™ (70ai dengd) siatm, 1992 8 d & s
& g &g fra F @ B9 bmentad yei @ frafes e § onfya e wn w7

A. fewdr @& NCT B. wam

C. ggailr D. @eE

a0 feu o faeedt ¥ @ wéd g gh

(A) hae A 3T B (B) waa B et C (C) waa A @R C (D) haw C T D

wien oran atufa & foo fe o 8 se—ar sy wé 2 7

A. 3EE W ¥ 10 ¥ aifus ggq e B a1 g 8§ 7 € afus gew @ e

B. @=iy % SR faue & U%h 9IE Uk 9UTHT b ®9 H H HAdl © |

C. =g ey Fre, wad ud sd-—wraa el & g 9 g gl e dar-faarer @ S s g
D. wfufy (b)) @ frare fedl O g9y us ad @ sifus 480 €1 |
%%Wﬁwﬁ(ﬂﬂﬁwgﬁﬂ

(A) Had A.BaR C (B) @waa A, C3itD (C) %Had A, B3R D (D) @aa B, C sk D

Tated g & U gig e & Mg & 9 ¥ e saet oY faar et e § 9 sy ad

gE ?

A. ST % BI3 T (session) @I ge I 9re] W@ & fog afy gatea =amaea & srafast o e soata
o, O9 U & Grardier & Frgiea @ o gedr @

B. wdlea <A@y & US &g <AArdie & Fgfa 9 ved 9Rd & g iy & dafad sen aawa & e
=TS & A1y faam-famst e wwd gar &

C. ug ge ey & fgleg & oo weafy @ qd gafy aifad 58 &

D. daieg Ay &l 936 Hid 999 gared Aaad & US gl JEndiyT Bl gdied a6 rarereT ol
o gfeal si fagionfusr e e £

(A) &ad A, Bair C (B) @%aad A3t B (C) hada C & D (D) %aw A. B e D
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Which of the following is correct?
1. Evaporation is a surface phenomenon, which means particles from the surface change into the
vapour state.
2. Boiling is a bulk phenomenon. which means particles from the bulk (whole) of the liquid change
into vapour state.

3. Deposition is the change of gaseous state directly to solid without converting into the liquid state.
4. The state of matter can be changed by changing its temperature only.
(A)y 1,3 and 4 (B) 1.2and3 (C) 1.2and 4 (D) 2,3 and 4
Match List-I with List-II :
List - 1 List - 11
. Camphor from solid sodium chloride . Chromatography
2. Different pigments from an extract of flower petals Il.  Distillation
3. Acetone and water mixture 1ll. Centrifugation
4. Butter from cream IV. Sublimation
(A) 1-11 2-1, 3-1V. 4-111 (B)  1-1L 2-I1E 3-1V. 4-1
(C) 1-1V, 2-1, 3-11, 4-111 (D) 1-1V, 2-H1, 3-1. 4-11

Consider the legal issues involved in followings advisory opinion rendered by the Supreme Court of India
under Article 143(1) of the Constitution.
Match List - 1 with List-1II :

List - 1 List - 11

A. Delhi Laws Act. 1951 I Legislative Privileges

B. Keshav Singh 1965 Il.  Gujarat Gas

C. Special Reference No. 1 of 2001 IlI. Delegated Legislation

D. Special Reference No. | of 2002 IV. Gujarat Assembly Election
Choose the correct answer from the options given below :
(A)  A-lL B-1 C-1V. D-lI (B) A-lL B-1, C-II. D-1V
(C)  A-L B-III, C-1V, D-II (D) A-ll, B-1, C-III, D-1V

Which of the following Union Territories are included in electoral college for election to office of
President of India by the Constitution (70" Amendment) Act. 1992 for purposes of Articles 54 and 355
of the Constitution of India ?

A. NCT of Delhi B. Goa

C. Puducherry D. Lakshadweep
Choose the correct answer from the options given below :
(A) A and B only (B) B and C only (C) A and C only (D) C and D only

Which of the following statements is/are correct for the Public Accounts Committee ?
A. It comprises of not more than 10 members from the Lok Sabha and not more than 7 members
from the Rajya Sabha.
B. As per convention a member of the opposition acts as its Chairman.
C. It examines the statement of accounts showing the income & expenditure of the state
corporations, autonomous and semi-autonomous bodies.
D. The term of the Committee does not exceed one year at a time.
Choose the correct answer from the options given below :
(A) A.BandConly (B) A.CandDonly (C) A.BandDonly (D) B.CandDonly

Consider the following statement regarding the appointment of ad hoc Judge of the Supreme Court.
Which of the following is/are correct?
A.  Ad hoc Judge is to be appointed if the quorum of the Supreme Court judges is insufficient to hold
or continue any session of the Court.
B. Chief Justice of India is required to consult the Chief Justice of the concerned High Court before
appointing a Judge of the said High Court as Ad hoc Judge of the Supreme Court.
C. For appointment of ad hoc Judge, prior consent of the President is not mandatory.
D. Ad hoc Judge of the Supreme Court while attending the sittings of the Supreme Court enjoys all
powers and privileges of a Supreme Court Judge.
(A) A.Band Conly (B) A and B only (C) C and D only (D) A, B and D only
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I 2 sue fiu o E:

F-1: 22 9@ng, 2019 & foaifa=pryg d2ege @rg dfewd arb 1 570 defieer § gxam 2 @ fhar @il
wWakige ¥ aiffdey, oy ud Uar gaifas &

o - 11 2 Al o= & ufeedr garg s 100 km (62 HIZd) &1 &HarE 9T Han|

U BUAl & gy H W G T fawed ¥ ¥ g4ty gugdd a7 g

(A) &Y - | qur & - 1] <97 w8 & (B) @& - | du1 wud - 11 a1 Tod
(C) wuA-19d & fohg ®u7- 1l Tog & (D) ®=F -1 Tad & fobg a4 - 1l 921 ®
fr o ¥ & o ufed (fsdfea) 48 27

(A) ST (B) drfiam demmacese

(C) wifsag gz (D) Hifae 3% waor

I @ wud fau o ¥ ous @ afeus (A) @it g8 B R (R) & de ue sifed fear mn @
A (A) @ AN 9 WA & ggd sifae " g @ el Sudn faii= waieEl | 3eEd b ' o e
o TwRT €| F 6w g3t A srafire Frjad e AT, 38 Sl @ ores Ud gUad g "
TrfE |
F9 (R) : arArE H hda SIEHEEIES 91 Bldl & | hIdA SIZAIFEIES Sl Hul "I B H Wihlah 14 @l
geren & qrarte free ot 3d
U HA & "e H, A fqu o foeedi § & gaifus suged go¥ g
(A)  (A) T (R) a4 |1 € & (R), (A) &1 ¥el = €
(B) (A) @ur (R) a4 |1 & 8T (R). (A) &1 @&l et =& &
(C) (A) gér 2 fog (R) 981 781 €
(D) (A) @& =& & fbg (R) W1 &
A o dgey! de & SR § Ed 19§ 9 eF 61 g eiftae § o1 ¢
. Mg e 2. Hdaied WA
3. Pu% WH 4. e @
i 3 (B) how | 34 (C) haw 2 &K 4 (D) haw 1, 2 3T 4

1,2 8% :

TR =X UX TEM Bl A il fagd 4w o el § e ¥ § o ang ge g v

i, WEhidd oflad 3R fafaes ¥ de 9T @1 SuEnT B E |

i, MFOTLET S e w9 o ac 9T T SUGAT BT E

iii. TEY FHET BT UGT HSYET § ac YT B UGN Bl & |

iv. afgeaT T1aEl § 220 UfqgR 9r &1 I9EnT Bl §

v. Taiq=1 @eal o ¥ St 984 9l 9 @0 " 999 el § |

(A)  @ad i, ii 3T iv (B) dhad ii ST iii (C)  had iii ST iv (D) had i, iii, iv #T v

= myAl 9 faa i

FA-1: JIbE & (@YU B gak & I gd § UhS BNl & 91 B3 gash b Iav g9 W fade & s
% |

Fo - 11 : g & o1 fGon g o o) & fress agfaer Ragd o 9ot ga o7 &9 & a6 & #)

Fo - 11 : 9 792 % 9aY &5 47 ga9ad &F T80 e |

F - 1V : gad &3 @& arufds gadar & v s feea B @ife g st s g

U wUAl ¥ § de- wé € 7

(A)  ®aa- 1 1L 1 & 1V (B) e - 1. 11, & 11

(C) @wu=-1, 11 & IV (D)  @®uw - 11, 11 & IV

= HwAt X faam #ifa

& - 1« faera wiex dga ot @1 @it st § afafad s €

o - 11 : e w9zt 9itas St & 9ad oo § gfafad s & |

F - 11 : foed "ot ud 99t aM1 Us & g o & & & |

ulad @Al § § w8 adl ¥ 7

(A) ®wEF-lleiclll (B) &aa-lam Il (C) wad-1 &l (D)  ®wgA- 1, 11 & 1
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Given below are two statements:

Statement - [ : Chandrayaan-2 was launched on July 22, 2019, from Sriharikota by a
Geosynchronous Satellite Launch Vehicle Mark [11. The spacecraft consisted of an
orbiter, a lander. and a rover.

Statement - 11 ¢ The orbiter will circle the Moon in a polar orbit at a height of 100 km (62 miles).

In the light of the above statements, choose the most appropriate answer from the options given below

(A) Both Statement - I and Statement - Il are correct

(B) Both Statement - [ and Statement - 1l are incorrect

(C) Statement - 1 is correct but Statement - Il is incorrect

(D) Statement - [ is incorrect but Statement - I is correct

Which of the following is not a preservative?
(A) Dulcin (B) Potassium metabisulphite
(C) Sodium benzoate (D) Sorbic acid salts

Given below are two statements: one is labeled as Assertion (A) and the other is labeled as Reason (R)

Assertion (A) ¢ Biogas contains large amounts of methane which can be used as a fuel for several
purposes. As it releases no smoke or residue, it should be considered as a good and
safe source of energy.

Reason (R) ¢ Biogas also contains carbon dioxide and the higher content of carbon dioxide
contributes to lower energy of biogas in comparison to natural gas.

In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

Before the inception of the five-year plan in India, which of these plans were in existence?

. Bharat Plan 2. Sarvodaya Plan
3. Farmer Plan 4. Bombay Plan

Select the correct answer using the code given below :
(A)y 1.2and 3 only (B) 1| and 4 only (C) 2 and 4 only (D) 1,2 and 4 only

Which of the following is (are) true in respect of the electric current used at your home?
i. Microwave Oven and television uses de¢ current
ii. Refrigerator and washing machine uses ac current
iii. Air cooler and air conditioner uses ac current
iv. Most of the devices use 220 ampere current
v.  Magnitude of current passing through different devices is same
(A) Only i, ii and iv (B) Only ii and iii (C) Only iii and iv (D) Only ii, iii, iv and v

Consider the following statements :

Statement - [ :  The magnetic field lines emerge from the north pole and merge at the south pole
of a bar magnet.
Statement - 11 ¢ The direction of magnetic feld is taken to be the direction in which the north pole

of a compass needle moves.

Statement - IIl  : There is no field inside a bar magnet.

Statement - IV :  The relative strength of the magnetic field is shown by the degree of closeness of
the field lines.

Which of the above statement(s) is/are correct?

(A) Statements - I, I, Il and 1V (B) Statements - I, I, and Il

(C) Statements - I, I and 1V (D) Statements - 11, IIT and 1V

Consider the following statements :

Statement - [ : An electric motor converts electrical energy into mechanical energy.
Statement - 11 :  An electric generator converts mechanical energy into electrical energy.
Statement - III  :  Both electric motor and generator work on the same principle.

Which of the above statement(s) is/are correct?

(A) Statements - Il and IlI (B) Statements - 1 and Il

(C) Statements - [ and 11 (D) Statements - I, Il and Il
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e HwAl 9T fgEm it

FA-1: 9 UF ACZEAES U AT § qHL HIAH dI T AT BT &, 39D Jaaiy, Radsl 9 wie agwdr
%

Foa -1l 1 UF 9T ¥ gEL W @l AT A B GG AeerErss 99 @ feadelt wuwm amfafdd e 2

Faa - 11 : U q1eq9 & gge "rEad & ST A wid g9 degEs 99 @ fhadsh 9 wfie gead ¥

FA - 1V ;g fafeaia fem (medical diagnostics) ® wamm # ame arddl U deeie & e
HLTEISS el UGN fehaam wrar & |

IuLad YAl & e H ¥ B8 g gér g ?

(A) @uE - | e 1l (B)y &wa-13itlll  (C) wA-1lai 1V (D) @aa- 1l s IV

U% Al 5T B ARG B W @ F owdd §

Fud-1: =l eaogiar § difsa &
FaA-11 1 S oF B AGTUD gehal (curvature) 91 1S ST e STH{HTT (elongation) %! a9 € I€ I BEy|
ToT & Hehell & |

Fu - 111 : 3Fq UraT & oaaqd (concave) TF &1 WAN Hidh 2T %I GUTT 51 hal & |

w1V Eﬁl—dmﬂ'{?ﬁﬁﬂ(C()n\-'ex)ﬁﬁﬁmaﬂiﬁmﬁgamwm%I

IuUad ®uAl &1 e | BT waee gél o7

(A) @wmE-laflll (B) @we-llaily  (C) @wmeE-lam v (D) & -1 &

1 Sudet # @ fopm dfaer daes &g Tl & oY ¥ %A T, % AN (ratification) @ STAYgERAT Bl
g 7
A. @dl sEdr § g o g B. arse 54, ageda 55 @i argme 73

C. d=x VII D. 9 IX @ gex |
E BT BT TG HITAT
(A) A@RB (B) Bt C (C) CaxD (D) D& A

o & @ @F—ar ergede diag % @r e 8 ued TWarEl BR &l TS $% gibdl 9 g9l 8 3a= el o
ATl B BT %4 ° Uhdl & °

(A) arg=E 358 (B) a9=Ee 363 (C) o =e 366 (D)  arg=E 368

FE @ Aty @ g 1 ¥ & 220 9 $ 915 §fgu™ & fee 9 9 9w ¥ gnfya fear mar 2

(A) e XLaexlll (B) @ XILa=IlV (C) 9@ XIV,d=<l (D) ue XI, 9=

Heled AT & H1E A BUeal Toe (2007) & G- &

(A) w@ag g | (B) wfgam @1 snareyd eid |

(C) orgfad & & (D)  IulEd § § ®iE el

wiad 'A' ¥ gdiag ga AN @1 e wfe B H fRu o gad e (hasH) & owry difau qun gd fade

Fiel - A g - B

i el drEy A. SIES9H

i, WY ST g B. @EardE &1 fafor

ifi. TrEEE C. UM fadfas

iv. wEEEM D. fafus fg-afay
CIER
(A) i-A, ii-B, iii-C. iv-D (B) i-B. ii-D. iii-A. iv-C
(C) i-B, ii-D, iii-C, iv-A (D) i-D.ii-CLodii-AL iv-B

frefafaa T % 99 § ¥ Ay ffes O durfae € 7
(A) Tase &« s, AIDS, = fasm (B)  AIDS, #UeEfed B, &4
(C) Emifefaen, eUeEfed B, #a aEgsq (D) faea g« arifen, €mifefasn, sea fsm
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Consider the following statements :

Statement - [ :  When an ultrasound travels from one medium to the other medium, its wavelength,
frequency and speed change.
Statement - 11 ¢ The frequency of an ultrasound wave remains almost unchanged while travelling

from one medium to the other medium.
Statement - III  : The frequency and speed of an ultrasound wave change when travelling from one
medium to the other medium.

Statement - IV~ :  “Echocardiography’- a technique used in medical diagnostics, employs ultrasound.
Which of the following combination of above statements are true?

(A) Statements - [ and 11 (B) Statements -1 and Il

(C) Statements - I and IV (D) Statements - 11l and 1V

A person is not able to see distant objects clearly.

Statement - | :  The person is suffering from Hypermetropia.

Statement - 11 :  The defect may have been caused due to excessive curvature of the eye lens or

elongation of the eye ball.
Statement - III  :  The defect can be corrected by using a concave lens of suitable power.
Statement - IV~ : The defect can be corrected by using a convex lens of suitable power.
Which of the following combinations of above statements is correct?
(A) Statements - [ and 111 (B) Statements - 1I and IV
(C) Statements - | and IV (D) Statement - 11 and 11

Which of the following provisions require(s) ratification from not less than one-half of the states for an
amendment to the Constitution?
A.  Any of the lists in the Seventh Schedule B. Article 54, Article 55 and Article 73

C. Chapter VII D. Chapter | of part IX
Choose the right code :
(A) Aand B (B) BandC (Cy Cand D (D) Dand A

Which of the following Article bars the courts from interfering in disputes arising out of certain treaties
and agreements made by the Princely States before the commencement of the Constitution?
(A) Article 358 (B) Article 363 (C) Article 366 (D) Article 368

In which Part and Chapter of the Constitution was the Right to Property inserted after being removed
from Part 111?

(A) Part XI, Chapter 11l (B)  Part XII, Chapter 1V
(C)  Part XIV, Chapter | (D)  Part X1, Chapter |
I R Coelho judgment (2007) of the Supreme Court deals with :
(A) Autonomous institutions (B) Basic Structure of the Constitution
(C) Scheduled Areas (D) None of the above
Match the cell organelle listed in Column -'A" with their function in Column - 'B' and select the correct
option.
Column - A Column - B

i. Golgi body A. Digestion

ii. Smooth endoplasmic reticulum B. Formation of lysosome

iii. Ribosome C. Protein Synthesis

iv. Lysosome D. Lipid Synthesis
Code :
(A) i-A, ii-B. iii-C, iv-D (B) i-B, ii-D, iii-A, iv-C
(C) i-B.ii-D. ini-C, iv-A (D) i-D. 1i-C, iii-A, iv-B

Which of the following group of diseases comprises genetic diseases?
(A) Sickle cell anemia, AIDS, Down syndrome

(B) AIDS, Hepatitis B, Cancer

(C)  Hemophilia, Hepatitis B. Colour blindness

(D)  Sickle cell anemia, Hemophilia, Down syndrome
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foerfim it fop =i 9 faqom frmee <9 % =0 & & ®xa &, 98 ®
(A)  TEdEwIEE (B) wifes ufas (C)  umamHE (D) s / e
&arL JMg i H faere wrdw @ o wlagidan @
(A) 18® 19ufgsta (B) 20®¥ 25 yfasa (C) 15 @ 16 ufasa (D) Ui ® & &g e

989 & dF Wl | Iy d9 e, S9 BwS % 9l B add

(A) =rgHed qara & I B (B) argH=ei a9 & &9 e
(C) amguea qarg § #fys & (D) SEHM & Ggad &l
fr & & Meerew T6l & it § 99 fu o wie F @ w8 faeer gfo
O i, AEZEE

ii. AAEZHE SHidEEe iv. A 9

35“]3.

(A) % i iii hTiv (B) e i o i (C) aa iaitiii (D) aw i ii o ii

o qReh Tt faenaiardas § o g ¥ ad 2022 % 9= g urawkaiei & A &1 e 9 e
% g1 BHIAT

a) WHT 3T 1) =R ud IAm

b) EE™ WHHE (FLONYT) 2) WS

¢) U gEI@A 3) fasme wa =

d) <ds st 4) waifee ug farenm

¢) T T (WIUI) 5) el
frer o & wd fawea gfo -
(A) a-5, b-4. c-1, d-2. e-3 (B) a-5, b-1. ¢-2, d-3. e-4
(C) a-1, b-2. ¢-3, d-4. e-5 (D) a-2, b-3, ¢-4, d-5, e-I
gar | & fes g9l [ & a &g -

7 - 1 7 - 11

a) 7. 9ISl 99 bd 1) FABMNT &1 i

b) @emOT AH 2) aies M

¢) HENHET BT 3) fe=dr wifecart v wifgerd

d) wafaers EFE areaE CaEE’ 4) @ai & GRS B FEd (IEtEy)

e & & w2 fawew ghmg -
(A) a-1,b-2, ¢c-3,d4 (B) a-4, b-1.c-2,d-3 (C) a2 b-3.c4 d-1 (D) a3 b4, c-l.d-2

1857 & wdsal €U 1 Ush Sro@-g Jedl, diedl 20 b g o A § 8 @l | wd ¥ 0

I, Ie ATElas AW IS IO 1 AT | 2. TagTH 9 A Wed ud qRid qr b e o S |
3. 98 Herusg H dafrar & Frard 4 4. =i " g3 vd e ¥ {4z @ Aga e

=1 & ¥ w21 famed ghm -
(A) &aa 1,233 (B) ®aa 2.334 (C) &aa 1.334 (D) 1,2 3374

I 1 2ol Saegd H Talad dist & B9 § wefud & &g Id 9 & ge qaerd gra 4 9y @
Fwraf=ge FramEt, i ad 2020-2021 § 2023-2024 T % 7 A9 oied Saaerd M & @ihid JaH
BT
1 HgAl 9 faam #ifag -

. Eoiihdl HHCIEed WS bl 39 UTIh9™ UTOAT & U 9T 14 &g hemdy o dfer mar & |
faenfaa <ot & 30-70% @& fauiiad 9 ¥ Zorihd <odeEed & UMy wae 5-10% %)
=g fagm g g Eofafon et aea @< 9 dvgue & drg g™ @ yEe fear s |
YT CaIhd CadeEed THY @1 =gy 3 21aY SRNTd Mbied & iaid fhar S|
IuUad H ° HE HAA ?{Prﬂ'{ -
(A) ®aa 1.2ex3 (B) ®waw@2.3e4 (C) Haa 1.3 x4 (D) wHawa 1,2 w4

L2 O
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75 A vitamin that functions both as a hormone and a visual pigment?
(A) Riboflavin (B) Folic acid (C) Thiamine (D)  Retinal / Retinol

76 The total percentage of carbon present in our human body is
(A) 18 to 19 percent (B) 20 to 25 percent (C) 15 to 16 percent (D) None of the above

77  During expiration the air will leave the lungs when the pressure inside the lungs must become

(A) equal to the atmospheric pressure (B) lower than atmospheric pressure
(C)  higher than atmospheric pressure (D)  diaphragm must contract
78  Select the correct option from the codes given below about greenhouse gases from the following:
i. Methane ii. Nitrogen
iii. Nitrous oxide iv. Water vapours
Code :
(A) i, il and iv only (B) iand ii only (C) iand iii only (D) i, i and iii only
79  The Padma Awards are given in various disciplines/field of activity. Match the name of the Padma
Awardees of the year 2022 with their field of activities :-
Name Field
a) Prabha Atre 1) Trade and Industry
b) Radheyshyam Khemka (Posthumous) 2) Sports
¢) Natarajan Chandrasekaran 3) Science and Engineering
d) Devendra Jhajharia 4) Literature and Education
¢) Sanjaya Rajaram (Posthumous) 3) Art
Choose the correct option from below :-
(A) a-5, b-4, c-1. d-2, e-3 (B) a-5, b-1, ¢-2, d-3, e-4
(C) a-l. b-2, c-3. d-4, e-5 (D) a-2, b-3, c-4, d-5, e-1
80  Match List I with List IT :-
List I List I1
a) Dr. Dhondo Keshav Karve ) Gandhi of Malkangiri
b) Laxman Nayak 2) Old Gandhi
¢) Matangini Hazra 3) Hindi Litterateur and Revolutionary
d) Satchidananda Hiranand Vatsyayan “Agyeva’ 4)  Pioneer of Women’s Empowerment

Choose the correct option from below:-
(A) a-1.b-2.¢-3.d4 (B) a-4,b-1,¢-2,d-3 (C) a-2, b-3,¢c-4,d-1 (D) a-3.b-4 c-1.d-2

81  Which of the following is / are true regarding Tatya Tope, a significant face of the Freedom Struggle of

18577
I.  His real name was Ramachandra Pandurang Rao.
2. In Bithur, he came in contact with Nana Saheb and Moropant Tambe.
3.  He belonged to Yeola in Maharashtra.
4. He led a rebellion in Madhya Pradesh and Rajasthan.

Choosec the correct option from below:-
(A) 1.2and 3only (B) 2. 3and4only (C) I1.3and4only (D) 1,2,3and 4

o

82  With a view to position India as a global leader in technical textiles, National Technical Textiles Mission
has been approved for creation with a four year implementation period from FY 2020-2021 to FY 2023-
2024 by the Ministry of Textiles, Government of India.
Consider the following statements:-
I.  Technical Textiles products are divided into 14 broad categories depending upon their application
areas.
Penetration level of technical textiles in India is at 5-10%, against 30-70% in advanced countries.
Promotion of innovation amongst young engineering/technology/ science standards and graduates
will be taken up by the Mission.
4. The National Technical Textiles Mission will be implemented through a 3-tier institutional
mechanism.
Choose the correct statements from the above :-
(A) 1.2and 3 only (B) 2. 3and 4 only (C) 1,3 and4only (D) 1,2 and 4 only

LUS T 0O ]

Page - 25



83

84

85

86

87

88

| HINDI VERSION

Jea 390 frad TR (NDRI) % g= & fra ur faam #ifg -

. A9Fd =gl Ed TREE & Ead 1923 § 9eR  SUiiEd TReiee #% UHMd sqdsl Us saiin

% I 9T g |

2. 1936 ¥ 39 ifEd ST gerede 9 fear @ |

3. 1955 %, e frod aod @ 9¥ NDRI &1 @I1ae ga1 o |
U § € "El HUF gu -
(A) hae | @R 2 (B) g 2 & 3 (C) haa | &K 3 (D) 1,283
shamn & geig swaredl & a9 ¥ e g faame @ifao -

|, fiismEme g dvgeg — fow e 2. ATET 9eid AT — Lrer Re

3. fofsen awgsita spmareg — geds R 4, 9t fyreprame g AT — HEEg fel
SUTEd H ¥ gl BUA & gAd &Hifu -
(A) &g 1.23T3 (B) ®ada 1.2 a4 (C) waa 2.3 34 (D) waa 1,3 3w 4

=1 e 9 fae S -

1) " (FAME) gfear @M AR g dreHl b W 2

2) O uH faw wmd @ ~  TOT Y4 & Al § g B ggren aF &g

3) fer — el b e ud el A quiede gl & fau i gew
4)  wgE = G g — 09 ud dfual @ faga & sifter

IUUad H § HIF @ TE AL 2 oo-
(A) Haa | & 2 (B) aw 1233 (C) &aw 2. 334 (D) 1,2. 334

afeqr une U9y 9% (IPPB) & 9= § 9 & § &9 § &o9 9er €7

1. IPPB @& &g 2016 ¥ &1 73|

2. =1% (Post) faumr & afasta 100 wiasta GO sfedl o 919 gfetes f@ies hu+l & drf 9% IPPB &7 g
fopar T |

3. U2 GiileH W™ 4% UisHed & wqE el [Shaed UHeq g e &l dieanfed wan g ¢ o™i [PPB
JEIqdT Sddl Ut @ad g ¢l

4. IPPB g @9 &l 73 qareti ® sitaw ug w91, fefaed e giifhhe, SHED Al 2idh gaNase
g

(A) &aa .23 3 (B) ®aad 2.3 34 (C) w&aa 1.23 4 (D) haa 1, 3 3T 4

e & & &iF § sud Teg 7

. @ed 913 arw feew g3ifrebee (CBFC) us gifafus frema & o i et & ardatfie weslq & frams
B |

2. ZETERY EWd & i @ 0 fee e svras’ # afead faeEems uae, 1920 % wifd EH %
ugETd T feman

3. Tthed G2ITRR™ UIHE % aMyfaie i Ud fsfaeasd ot & & faw 2015 § CBFC 5 &9+ iRy 9red
‘e-cinepramaan’ @i feraT|

4. Tt @ st | qxmslt U R st @ gerEar wid & UH U9W % el Bl bes Gl g
a1 G @ aaty & fou Afyd fear sar &

(A) had | 8t 2 (B) haa 2 3T 3 (C) had 3 3l 4 (D) haa 1 ait 4

I M T =T B g Aed (IGNCA) & =’ & 9 9 9 &9 9 a9 9é £ 7

1. IGNCA, d&pfd w=1eid & AL AL Gy g1 @iy U @rad g 8|

2. ﬁwgmw@me%%ﬁwaﬁ%ﬁaﬁﬁaﬁm@ﬁmm%@ﬁqﬁew%ﬁmmm
feman

3. 3E% Heg (Mandate) & &9 ¥, 39 diee (oS Ud AE2H U A9Hd T2l G9MT q97 U=EITere 9T J9d
WAET T 2

4. e fayH wX Igiered % fau ge Aed usE g

(A) &aw 1,283 (B) waw 2,384 (C) Haa 1,334 (D) hawa 1,2 3T 4
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83  Consider the following regarding the National Dairy Research Institute (NDRI) :-

l.

2

.

3.

The National Dairy Research Institute started as Imperial Institute of Animal Husbandry and
Dairyving in 1923 in Bangalore.

In 1936, it was renamed as Imperial Dairy Institute.

NDRI shifted to its present site in Karnal in 1955.

Choose the correct statements from the above:-

(A)

I and 2 only (B) 2 and 3 only (C) 1 and 3 only (D) 1,2 and 3

84  Consider the following regarding Wildlife Sanctuaries of Harvana :-

i

Bhindawas Wildlife Sanctuary — Jhajjar district

2. Nahar Wildlife Sanctuary — Rewari district
3. Chhilchhila Wildlife Sanctuary — Kurukshetra district
4. Bir Shikargah Wildlife Sanctuary — Mahendragarh district
Choose the correct statements from the above :-
(A) 1,2and 3only (B) 1.2 and4only (C) 2,3 and4only (D) 1,3 and 4 only
85  Consider the tfollowing matches :-
1) FAMEL India Scheme — To promote environment friendly vehicles
2) PM Vikas Pahal Scheme — To promote development in the villages of North East
3) Nishtha — National initiative for holistic progress of school heads
and teachers.
4) Pradhan Mantri Saubhagya Yojana — Right to electricity to the poor and deprived.
Which of the above are correct matches?
(A) 1 and 2 only (B) 1.2and 3 only (C) 2,3and4only (D) 1,2, 3and 4
86  Which of the following statements are true about the India Post Payments Bank (IPPB)?
1. IPPB was set up in 2016.
2. 1PPB got incorporated as a Public Limited Company with 100 percent GOI equity under Department
of Posts.
3. Post Office Savings Bank products primarily focus on encouraging digital payments and remittance
whereas IPPB primarily aim at savings.
4. Services launched by IPPB include Life and General Insurance, Digital Life Certificate, Domestic
Money Transfer.
(A) 1.2and 3only (B) 2. 3and4only (C) 1.2and4donly (D) 1,3 and 4 only
87  Which of the following statements are incorrect?
1. Central Board of Film Certification (CBFC) is a statutory body regulating the public exhibition of
films.
2. The film *Raja Harishchandra® produced by Dadasaheb Phalke was released after the passing of
the Indian Cinematograph Act, 1920.
3. CBFC launched its online portal “e-cinepramaan’ in 2015 to modernize and digitize film certification
process.
4. The Advisory Panels which assist the regional offices of CBFC in examination of film comprise
of members who have been nominated by the Central Govt. for a period of two years.
(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only
88  Which of the following statements are true about Indira Gandhi National Centre for the Arts (IGNCA)?
. IGNCA is an autonomous trust set up by the Government of India under the Ministry of Culture.
2. It has started post-graduate diploma courses to train manpower in the specialized field of heritage
conservation and management.
3.  As a part of its mandate, it has to prepare the National Register on Built Heritage and Sites and
the National Register on Antiquities.
4. It is the nodal agency for the National Mission for Manuscripts.
(A) 1,2and 3only (B) 2. 3and4donly (C) 1.3and4only (D) 1,2 and 4 only
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gar 1 &1 frams gt 11 % arg Hifso

T | T
A. SOYE AEREREH sTdEHe aEls (i) 220 gHErie A H O SeRaT 2 UReHE i Tl
girafddr @1 faar s )
B. zmard srard (i) Taenfeat ud o & sramar s Gt ara @iey faem 7 e

MU GFTE & Ygde didl |
C. Hi@Ml 31ga He™ AT 6! (iii) 9 3TUTUY Bl B FHE ad1 & el faatsar od I @
HWhedTgedh WITiard fhan qar siaxisdra waist o S 9foms
T H & I% qqd I
D. g @ WiEEd gEht (iv) 7 faenfsal o aom <@ & el eder arery g widd
¥ ApreE e & dun |fed gaes dhew ¥ frgfa % ar o
wiEg & yHIgE H dEE S @ g
(A)  A-(iv). B=(iii). C~(i), D-(ii) (B)  A<(iii), B-(iv), C-(ii). D-(i)
(C)  A=(ii), B=(i), C=(iii). D~(iv) (D) A-(i), B-(ii), C-(iv), D-(iii)

= o eE g e wEr ¥ 7

. 1970 % si@mm o1d wiasr AT fagiaento Juried T ol §97 Sl 999 o &4 |

2. sfegmm & 91 &1 G Her e ¥ A

3. sfwamm @ wa o 58 fauad g @ weg fear @ e Suie 9d @ud diell Bad od a9 8
& R WA @Ud G BEl Bl aeh uitad e & |

4. WO TG-S TE % stad sfeamm & 5000 § sty el @ 24 =5 fawdr emgfd wer @ g ¥ |

(A) ®aw 1,283 (B) @aw 2,334 (C) Haw 1.3 x4 (D) haw |, 2 K 4

93 2022 ¥ ford &% ok A 3 W 2 F 40 few diEgew @ el & & | o Fre duat 1w faer At
a1 WG % e &g W 3 9ol W €

T E H Feldd ¥ 99 3UR @ B @d aedl & |

e & ®erdl § ST B HUQET § ged g¢ UY AT Hedr &

Adearr § 99 Aqfy B9 HT b 00, 9 IUR o & o 6T @ wrented e &g RBI O 29 @
gl adr 2 |

i fqu U HIE &1 IUAN HLh GE HAA B A9 BIfAU ¢

(A) Had | & 2 (B) haw 2 aT 3 (C) haa 3 & 4 (D) aw | T 4

shaamn & awte 2022-23 @ gdfua fmr ur fmm difso

e |1 & FRBM e & ded 159 fag amam g fagifa a9 § @mn mn 2
BN =1 &l 2022-23 & BE & GSDP &1 2.98 wfayd wieige fean mm &

facia @ 2021-22 RE & faw =01 & GSDP arqur, 25 wfded § 99 & |

47 HisaT S9E SIS H "I B SGE P 29 aordrg " % a7 GHihd fhar mn ¥
YUV § § & T &I TE & ?

(A) ad | &K 2 (B) hae 2 3T 3 (C) hae 3 3T 4 (D) e 1 & 4

ATGHT A TUHHA 59 A I (AB-PMJAY) 391 & o179 el %] G 9 98+ $hid ard & $hal
ge B & | Ao & fguwag F e § 9 e v ¥ 7

I. <91 9 ufewss 9 Ugde gdids siidedl & siaid ebsdl g 2ISall $ay sigeazas™ & My AB-PMJAY
afd g9 9iq 9iEr dF @/ B9 a6 @1 Hal Jedl Hiadl & |

e §a1 % forg ux el & fau damd hyey ud yuierd & |

ve o & & qd A fqeam srgwensit &f wax feu mn &

ST & A9 QL 39 H Uread T 8 |

(A) &aa | & 2 (B) ad 2 & 3 (C) aa 3 & 4 (D) aw | 3T 4

NSO S T N J—

|

=

EE S ]
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Match List I with List 1l :-

List I List 11
A. Dhyan Chand Award for Lifetime (1) Given to the overall top performing
Achievement university in the inter-university tournaments
B. Dronacharya Award (i)  Recognizes contribution made to sports

development by entities other than sportspersons
and coaches.

C. Maulana Abul Kalam Azad Trophy (iii)  Honours eminent coaches who have successtully
trained sportspersons and teams and enabled
them to achieve outstanding results in
international competitions

D. Rashtriyva Khel Protsahan Puraskar (iv) Honours those sportspersons who have
contributed to sports by their performance and
continue to contribute to promotion of sports
even after retirement from active sporting career.

(A)  A-(iv). B-(iii). C-(i), D-(ii) (B)  A-(iii), B-(iv), C-(ii), D-(i)
(C)  A-(i), B-(i). C-(iii), D-(iv) (D) A-(i), B-(ii), C-(iv), D-(iii)

Which of following statements are true?

. Haryana was the first state in the country to achieve hundred percent rural electrification in 1970
itself.
Haryana is the sole holder of the country’s rock salt resources.
“Mera Pani Meri Virasat” scheme of Haryana aims to shift farmer’s focus from growing water
consuming crop like paddy to other less water requiring crops.

4. Under “Mahara Gaon-Jagmag Gaon™, more than 5000 villages in Haryana have been provided with

24 hour power supply.

(A) 1.2and3only (B) 2. 3and4only (C) 1.3and4only (D) 1.2 and 4 only

i 2

Reserve Bank of India raised the repo rate by 40 basis points in May 2022. Now consider the following
statements:

Repo rates are increased to control inflation.

With increase in repo rates, cost of borrowing money increases.

With reduction in repo rates, Industry gets loans at higher rates from the lender.

To decrease money supply in the economy, the RBI hikes up repo rates to encourage banks for
borrowing funds.

Select the correct statements using the code given below :

(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

&= B2 B

Consider the following from Haryana's Budget 2022-23.
I.  Revenue deficit has been brought within the limits prescribed by 15" Finance Commission under
the FRBM Act
Fiscal deticit has been projected at 2.98 per cent of GSDP in BE of 2022-23.
Debt to GSDP ratio is below 25 per cent for Fiscal Year 2021-22 RE.
47 existing budgetary demands for grants have been consolidated into 29 budgetary demands for
grants.
Which of the above statements are correct ?
(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

N TS S ]

Ayushman Bharat Pradhan Mantri Jan Aarogya Yojna(AB-PMJAY) provides accessible and affordable
health care to the common man in the country. Which of the following are correct about the scheme ?
1. AB-PMIJAY provides a cover upto Rs. three lakhs per family per year, for secondary and tertiary

care hospitalization across the public and private empaneled hospitals in the country.

2. It provides cashless and paper less access to services for the beneficiary at the point of service.
3. Pre existing conditions are covered from day one.
4. Benefits of the scheme are not portable across the country.

(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only
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AN § COP 26 § M & wodrg qiadd & Mefaiad 96 (nectar) dwi & Wi fomar o1

1. 2030 @% 1000 GW f-siraren Sl Hufaer qs g |

2. 2030 T 3o St dEdd @ SO widstd Thih g FHell g |

3. @@ d 2030 9% A wiad (projected) wEd el § vk fafermm o B B |
4. 2005 & W g Adeagn & dwrdd fradr § 2030 g 45 ufqed @ wadr |

5. 2090 @b "¢ S TS @l @ed W Bl |

fg 5 & a9 g dbua " ¥ ?
(A) dae 1.2ar3 (B) ®Haw 2.3 34 (C) ®ad 3,435 (D) w&ada 1, 4 3K S

ared @ $400 fafem &1 Fafa gfe o wfaea gmem ol 29 d9 #Hfsds (commodities) #:-

1. gentratin amme 2. yeifeaw 3amg

3. o9 U Sl 4. dmEw

(A) @aw 1,234 (B) Ham 1,334 (C) Haw 1,233 (D) whaw 2,3 A 4

7 Ay et 2T @i v g § Wifs dedie 9 § Ay qagad & 9% e § sEdl Fgelis

T 9 BT & G AR BN & | @A & ged # 7 BUAl ¥ ¥ BF aE g9 g -

I. Te 6 |ieAl & YW | wEHT & |

2. wiyiget @ GeIEl gT0 99w Uy giite o s g o

3. omfzafe q99 & SOH, wieeget @ B 9 =EYs Te fEa o |

(A) ad | &R 2 (B) aa 2 (C) ad 3 (D) waa 2 3T 3

fr @wei & @ @19 @ wd € 7

I, frdft us ad & e 291 @t Himifas @ 6 fiar sarfed @9 sifen awgell @ dansi & e gt &
sig GDPy,, 2lem & 1

2. gz feedl 291 @1 GDP @e @1 &, uRomsasy e § 364 AJa Jig AEG9dsh qe & |

3. AfEE GDP & fga GDP &1 squd GDP st (Deflator) Heerdm @ |

4. ﬁﬂﬁGDP@r#f’ﬁmGL)PmraﬂqmGL)l’amm%Tfam(L)cﬂator)Wm%|

(A) &aa 1.23T3 (B) ®aa 2,334 (C) waa 1.3 34 (D) wawa 1,2 34

fewfefmrm 2022 s s A A e M @ Teq & 7

I. =8 Hfememd S gd, g o srad fear mar ar |

2. 3@ | aue ¥ 15 awer 2022 e SrEita fepar @ ar |

3. WRdE uygferef 3 ge 16 9Ed W o |

4. gfud sfear 3 podt & TMieg dsa sidr an |
(A) e | (B) had 2 (C)  had 3 (D) haw 3 3T 4
Tl Td &g 9Md We9T & dI9 U 9 9% 9 Uiare dfedd o 91 Tad & ?

. TORE : BETe 2. HWENTE : HAS

3. e HAeE 4. 9FTe T ggad : TEU 9 T wd@l o 9 A
(A) Had | (B) haw 2 (C) had 3 (D) haw 4
Al | 9 fau o e el s e gl | H sl saitafa | sty -

T 1 w1l

A, FETEIH el STETg (i) Brgu

B. wzam #d (i)  &fwmom

C. @ & e ufEy (iii)

D. drgHsE e (iv) IAT wEd

E. fhemens a==E stqameg (v) wE@
(A)Y  A-(1v), B-(1), C-(v), D-(in1), E-(11) (B)Y A-(iu1), B-(1), C-(iv). D-(v), E-(11)
(C)  A-(1i1), B-(i). C-(v). D-(iv), E-(i1) (D)  A-(i), B(_\)_ C-(i1), D-(iv). E-(11)
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India presented the following nectar elements of India’s climate change at COP 26, in Glasgow:
. Reach 1000 GW Non-fossil energy capacity by 2030.

2. 50 per cent of its energy requirements from renewable energy by 2030.
3. Reduction of total projected carbon emmissions by one billion tonnes from now to 2030.
4. Reduction of the carbon intensity of the economy by 45 per cent by 2030, over 2005 levels.

5. Achieving the target of net zero emissions by 2090.
Which of the following are correct statements ?
(A)y 1.2and3 only (B) 2. 3and 4 only (C) 3,4and Sonly (D) 1,4 and 5 only

Top three commodities by percentage contribution in India’s export growth of $400bn are:-

. Engineering goods 2. Petroleum products
3. Gems and Jewellery 4. Rice

(A) 1.,2and4donly (B) 1.3and4donly (C) 1.2and3only (D) 2,3 and 4 only

The National Apprenticeship Training Scheme is a programme equipping technically qualified youth with
practical knowledge and skills required in their field of work. Which of the following statements are
correct about the Scheme?

1. It is a 6 months programme.

2. The Apprentices are imparted training by the organizations at their place of work.

3. During the period of Apprenticeship, the Apprentices are not paid any stipend.
(A) 1 and 2 only (B) 2 only (C) 3 only (D) 2 and 3 only

Which of the following statements are true ?
1. GDPyyp is the market value of all final Goods and Services produced within the geographical
boundary of a country in a year.
2. If the GDP of a country is rising. the welfare may not rise as a consequence.
3. The ratio of nominal GDP to Real GDP is called GDP Deflator.
4. The ratio of real GDP to nominal GDP is called GDP Deflator.
(A) 1.2and3 only (B) 2. 3and 4 only (C) 1,3 and4only (D) 1,2 and 4 only

Which of the following is incorrect regarding the Deaflympics, 20227

I. It was held in Caxias Do Sul, Brazil. 2. It was held from 15! April to 15" April, 2022.
3. Indian athletes won a total of 16 medals. 4.  Sumit Dahiya won a gold medal in wrestling.
(A) 1 only (B) 2 only (C) 3 only (D) 3 and 4 only

Which of the Ek Bharat Shrestha Bharat Engagement Matrix between States and U'ls is incorrect?
1. Gujarat : Chhattisgarh
2. Maharashtra : Odisha
3. Goa : Karnataka
4. Chandigarh and Puducherry : Dadra and Nagar Haveli and Daman and Diu

(A) 1 only (B) 2 only (C) 3 only (D) 4 only
Match the Ramsar Sites in List I with their locations in List II :-
List 1 List 11

A. Nawabganj Bird Sanctuary (i) Tripura

B. Rudrasagar Lake (i1)  Haryana

C. Tso Kar Lake Complex (i) Kerala

D. Sasthamkotta Lake (iv) Uttar Pradesh

E. Bhindawas Wildlife Sanctuary (v) Ladakh
(A)  A-(iv). B-(1). C-(v). D-(iii). E-(i1) (B)Y  A-(iii), B-(1). C-(iv). D-(v), E-(ii)
(C)y  A-(iii). B-(i), C-(v). D-(iv), E-(ii) (D) A-(i). B-(v). C-(iii), D-(iv), E-(ii)
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